IKONNER
SOHNEN

KS 8100iE




CONTENTS

1.Parts of @NGINE... st sesens 2
2.Parts of fuel tanK.........cceeeeccceeeeceeeee e 3
3.Parts of MUFlEI.....cec e 4
4.Parts Of DAtLery.....cieerinenenesesssesssssssssssssssssssssssans 5
5.Parts of transportation Kit..........cceceeeeeeeeeeeeererernereneesennne 6
6.Parts of cover Shell..... e 7
7. Parts Of INVEITEI... et sssseaes 8
8.Parts Of PANEL.....eeceeeeeeeeee e 9
9. Electrical diagrams.......eeeerneeneseessessesseessennnens 11
@E ESHHEE TRADITIONELLE DEUTSCHE QUALITAT ~ EXPLODED VIEW 1



1. PARTS OF ENGINE

No REF. No DESCRIPTION QTY
1 KS 8100iE-1-1 Engine 1
2 KS 8100iE-1-2 Motor front cover 1
3 KS 8100iE-1-3 Hexagon flange bolt-M5 x 10 8
4 KS 8100iE-1-4 Crimping block 1
5 | KsI0OETS ol MB350 s
6 KS 8100iE-1-6 Trigger assy 1
7 KS 8100iE-1-7 Magneto stator assy 1
8 | Ks00iE1s ol MBx 125565 :
9 KS 8100iE-1-9 Magneto rotor assy 1
10 KS 8100iE-1-10 Flywheel nut 1
11 KS 8100iE-1-11 Impeller 1
12 KS 8100iE-1-12 Hexagon flange bolt-M6x1x20 4
13 KS 8100iE-1-13 Motor tail cover 1
5>  EXPLODED VIEW www .ks-power.de @EQSEHEE



2. PARTS OF FUEL TANK

No REF. No DESCRIPTION QTY
1 KS 8100iE-2-1 Oil outlet nozzle 1
2 KS 8100iE-2-2 Oil tube 1
3 KS 8100iE-2-3 Collar 2
4 KS 8100iE-2-4 Tank assy 1
5 KS 8100iE-2-5 Busher ®9x®12x12.5 4
6 KS 8100iE-2-6 Oil tank damping rubber pad 4
7 KS 8100iE-2-7 Oil tank gasket ©6x®25x2 4
8 KS 8100iE-2-8 Hexagon flange bolt M6x1x25 4
9 KS 8100iE-2-9 Oil gauge 1
10 KS 8100iE-2-10 Tank cap 1
11 KS 8100iE-2-11 Fuel filter 1
GE EBHHEE TRADITIONELLE DEUTSCHE QuALITAT  EXPLODED VIEW 3



3. PARTS OF MUFFLER

No REF. No DESCRIPTION QTY
1 KS 8100iE-3-1 Exhaust gasket 1
2 KS 8100iE-3-2 Type 1 hex nut M8x1.25 2
3 KS 8100iE-3-3 Fexagon flange bolt 3
4 KS 8100iE-3-4 Exhaust pipe assy 1
5 KS 8100iE-3-5 Muffler gasket 1
6 KS 8100iE-3-6 Muffler assy 1

1< e =
4 EXPLODED VIEW www.ks-power.de @Hgg”méﬁ



4. PARTS OF BATTERY

1
¥ \

2 6
5\\"’ a
: o
No REF. No DESCRIPTION QTY
1 KS 8100iE-4-1 Battery 1
2 KS 8100iE-4-2 Battery pressing plate 1
3 KS 8100iE-4-3 Positive wire assy 1
4 KS 8100iE-4-4 Negative wire assy 1
5 KS 8100iE-4-5 Hexagon flange bolt M6x1x12 1
6 KS 8100iE-4-6 Hexagon flange bolt-M5 x 0.8 x 12 1
GE ggmgﬁ TRADITIONELLE DEUTSCHE QuALITAT  EXPLODED VIEW 5



5. PARTS OF TRANSPORTATION KIT

No REF. No DESCRIPTION QTY

1 KS 8100iE-5-1 Cotter pin 2
. Flat gasket - grade

2 K5 8100iE-5-2 CO14xD28X25 2

3 KS 8100iE-5-3 Wheel assy 2

4 KS 8100iE-5-4 Wheel shaft assy 2

5 KS 8100iE-5-5 Decorative board 2
. Hexagon flange

6 K5 8100iE-5-6 bolt-M8X1.25X80 2

7 KS 8100iE-5-7 Bracket of frame damping seat 2

8 KS 8100iE-5-8 Frame damping seat assy 2

1< e =
6 EXPLODED VIEW www.ks-power.de @Hggnméﬁ



6. PARTS OF COVER SHELL

No REF. No DESCRIPTION QTY
1

KS 8100iE-6-1 Fexagon flange bolt 2
2 KS 8100iE-6-2 Handlebar assy 1
3 KS 8100iE-6-3 Nylon hex lock nut M8 2
4 KS 8100iE-6-4 Frame assy 1
5 KS 8100iE-6-5 Hexagon flange nut-M10 x 1.25 4
6 KS 8100iE-6-6 Left damping pad assy 2
7 KS 8100iE-6-7 Hexagon flange nut M8 4
8 KS 8100iE-6-8 Right damping pad assy 2

GE ESH”EE TRADITIONELLE DEUTSCHE QuALITAT  EXPLODED VIEW 7



7. PARTS OF INVERTER

|
%

I"‘.‘ \]f’ l\j
g \3
No REF. No DESCRIPTION QTY
. Cross recessed pan head screw
1 KS 8100iE-7-1 M4 % 0.7 % 12 4
2 KS 8100iE-7-2 Spring washer ®© 4 3
3 KS 8100iE-7-3 Flat gasket - grade C4 x 0.8 3
4 KS 8100iE-7-4 Inverter assy 1
. Hexagon flange bolt - small
> K5 8100iE-7-5 series M8 x 1.25 x 25 2
. Flat gasket - grade
6 KS 8100iE-7-6 CD85xD23x3 2
7 KS 8100iE-7-7 Connecting line 1
8 KS 8100iE-7-8 Hexagon flange bolt M6x1x12 1

1< e =
8 EXPLODED VIEW www.ks-power.de @Hgg”méﬁ



8. PARTS OF PANEL

9

SOHNEN TRADITIONELLE DEUTSCHE QUALITAT  EXPLODED VIEW

KONNER

1
1
0

G



No REF. No DESCRIPTION QTY
1 KS 8100iE-8-1 Knob assy 1
2 KS 8100iE-8-2 Maintenance door 1
3 KS 8100iE-8-3 Block assy 1
4 KS 8100iE-8-4 Nylon hex lock nut M5 1
5 KS 8100iE-8-5 Collar 2
6 KS 8100iE-8-6 Oil tube 1
7 KS 8100iE-8-7 Starting switch assy 1
. Cross recessed countersunk
8 K> 8100iE-8-8 head tapping screw 4.2 x 16 3
_ Cross recessed pan head tap-
2 K5 8100iE-8-9 ping screwST4.8 X 16 2
10 KS 8100iE-8-10 Line card 2
11 KS 8100iE-8-11 Panel base assy 1
. Cross recessed hexagon head
12 KS 8100iE-8-12 bolt M6x50 2
13 KS 8100iE-8-13 Hexagon flange bolt M6x1x30 1
14 KS 8100iE-8-14 Hexagon flange bolt M6x1x12 4
. Cross recessed pan head screw
15 KS 8100iE-8-15 M5 x 0.8 X 10 3
16 KS 8100iE-8-16 Control panel assy 1
17 KS 8100iE-8-17 Knob assy 1
. Cross recessed pan head screw
18 KS 8100iE-8-18 Mdx0 7x16 1
19 KS 8100iE-8-19 Corrugated pipe 1
20 KS 8100iE-8-20 Ties 8
1KC =
10 EXPLODED VIEW www.ks-power.de @HESEHEE



9. ELECTRICAL DIAGRAMS

Inverter

B ARo2——{ U]
Three phase vinding
B Al2———V |
Br AIZ———{V |
Y 4628 {]
B 628 ————
Stepper motor
0 A%28 {1
¥ AR ]
0 620 ———Pon
Pover supply winding
0 45620 fPor

KBEC2510

Bl AYG16-

Bl ARG

— W ——— nws Rl ——O
1 vinéing F‘<—’>J
1

[L}—— rame 162800 1
R K12 ]
Grid connected é }H;m
¥ A2 -
6/ ARG12
N|—— ¥ 4;012 n
B
T\ Loy
[6} G A
LY v Violet
[t i BT Blue
Reset Gulutin ontlpral) Br Brown
[F— 1 6/Y Green/Yellow
R Red
Overload
I — ] e’r\’ Black
13 ¥ White
R 0 | Orange
[ F——¢m2 {4 | Gray
R/B Rod/Black
m Vi W/B White/Black
Overcurrent protector
o X +

R AKl6 2 4K
o
e EE
LR

B AWGL6

The igiter

T 4%620

01l wring

s it

B %620 —C
’B .
e

=
@] 1:&’“ I

Ulwasr  Sukpsg

KONNER

SOHNEN TRADITIONELLE DEUTSCHE QUALITAT

EXPLODED VIEW

11




IKONNER
SOHNEN

CONTACTS

Germany
ks-power.de
info@dimaxgroup.de

Ukraine
ks-power.com.ua
sales@ks-power.com.ua

TRADITIONELLE DEUTSCHE QUALITAT



